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English Worksheets
	


	Module Name: Answer Key – Subject Worksheets/Tests



	Worksheet 1

Answers will vary
	Worksheet 2

1. The answers to this worksheet are all based on the student’s perceptions of what happened on September 11, 2001.  For this reason, all answers will vary. 

	Worksheet 3

Answers will vary. 

	Worksheet 4

Answers 1-9 were calculated using the data from 30 students. If your particular class had a different number of students the answers will be similar but not exact. 
High Air Pollution (Smogsville)

Low Air Pollution (Greensville)

Healthy

15

19

Ear Infection
6

6

Asthma

9

5

Total

30

30

1. 6/30 = 0.2
2. 9/30 = 0.3
3. 6/30 = 0.2

4. 5/30 = 0.167

5. The Smogsville sister

6. 0.2/0.2 = 1

7. The risk of getting an ear infection is the same in both towns. 

8. 0.3/0.167 = 1.8

9. People living in Smogsville are 1.8 (or almost two times) as likely to have asthma as people living in Greensville.

10. No, because the same number of people get ear infections in both towns.

11. Yes, because more people have asthma in Smogsville that in Greensville so it is likely that something in Smogsville is causing the high levels of Asthma and it could be the air pollution. 
Exposed to Benzene

Not Exposed to Benzene

# of workers with Leukemia

42
9
Total # of  Workers

74828
35805
12. 2.23

13.  Workers exposed to Benzene are 2.23 times (slightly more than two and about/more than double are also acceptable) more likely to develop.

	Worksheet 5

1.  Answers vary.  Possible reasons could include: current construction sites, proximity to the street, high traffic walking area (dirt and dust being kicked up), near something that burns fuel
2. Same as above.
3. dust, soot, dirt, smoke, 
4. Anything that burns fuels will emit the gases that can chemically react to form particulate matter, construction sites cause increased amounts of dust in the air, fires, diesel fuel usage, answers will vary.

	Worksheet 6

1. The thermometer in the jar should have shown increasing temperatures, while the other thermometer should have stayed at about the same temperature.

2. The thermometer in the jar showed a greater increase in temperature

3. The glass jar represents our atmosphere, which traps the light from the sun and the air which it heats inside of it, causing the air surrounding the earth (inside the jar) to rise in temperature.
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